
The transitive-reflexive closure of a relation is a closure operator, i.e. 
satisfies

•

As a consequence •

EX1. Prove it!•

CONFLUENCE•

Confluent

Locally confluent                          Strongly confluent                                Diamond

EX. 2 Ø
(a) Prove that strongly confluent implies confluent
(b) As a preliminary step, prove:  ←∗⋅ → ⊆→∗⋅←∗ ������� ����������

EX 4. Two relations commute if

Abstract rewrite system (ARS) is a set A equipped with binary relation →

TD0: Abstract Rewriting



TERMINATION•

A second Proof. 
It suffices to show that every element has unique  normal forms 

Consider

EX Say which  properties holdØ

Confluent1.
Locally confluent2.
Normalizing (weakly normalizing, WN)3.
Terminating (strongly normalizing, SN)4.

Prove that

EX. 5 Two relations strongly commute if

Prove that strong commutation implies commutationØ

EX. 8Ø



Conclude by showing that it is impossible (absurd)Ø


